11.7 Homework Solutions
Monday, November 30, 2015
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Use the quadratic formula to solve the equation. If necessary, = __9__-;2——3,— = "7 .i’ l/;
2

round answers to the nearest hundredth.
1. 2 +8n+15=0 2.l —-5x=4
3. 42-8t+1=0 4, -3:2+2)+4=0
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For the equation, state the value of the discriminant. Then state the
number of real roots for the equation.

5. 42— 28x+49=0 6. 2—3x+6=0
7. 9 —1%x—-1=0 8. dl=4dx+4
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13. Without graphing, determine the x-intercepts of y = x2 — 6x — 16.

14. A stone is thrown from a catapult. The function h = —16 + 80t !
describes the height h of the stone as a function of time t. ] SD = - 0 .
ey . Pn Wi

a. How high is the stone at 3.5 seconds?

b. Write a related equation in standard form that can be solved to —_ 2 _ (I >~ LL
find the times when the stone will be 84 feet above the ground. - X

<. Using any method you prefer, solve your equation to find the — ( —_ ) ( )
timesgthat the stone is 82 feet above the grgund. Round your O - x ? X ‘]"34
answer to the nearest tenth, if necessary.

d. When will the stone be 36 feet high? LX. - & 27 2
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15. The main cable of a suspension bridge can be modeled by the
function h = 0.00234x2 — 0.75x + 80, where h represents the
height of the cable above the roadway and x measures the horizontal
distance across the bridge starting from the left tower.
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At what positions will the vertical support cables et long?

16. The function d = 0.08s2 — 2s + 28 can be used to model the
braking distance (in feet) of a certain car traveling at a given
speed s (in miles per hour).

a. What braking distance does this function predict for a speed of
27 miles per hour?
b. If the vehicle takes 64 feet to brake to a complete stop, what
speed does the function predict?
—

17. The quadratic formula x = w
the points where the graph of the quadratic equation in standard form
crosses the x-axis, Use this information and the fact that the x-coordinate

f the vertex is midway between the two zeros o determine the
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18. The quadratic formula can be derived by solving the general form
of a quadratic equation. Copy the derivation below and supply the

missing reasons.

Original equation al+bx+c=0
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Simplify. 2+ox=—o

b 12 } The coefficient of 2* is 1. So
o 2 . S S you can complete the square
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Combine the fractions. o= Z‘bz =%ac
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